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+S5) - Phy ™ — S - Phy ™
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4. KB . (n) _ (n+1)
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¥ DO/N (g—02/g—N)
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4.2.1

/ 25 2.8 2.8 3.0
callcm?/ 40 30 70 40
— Q10 Q10 Q10
16 20 20 25
- -0.004 0.0693 0.0693 0.0693
I-N mg/L 0.04 0.1 0.1 0.05
I-P mg/L 0.0034 0.01 0.01 0.005
- 0.1
20 / 0.01
- 0.0693
(10 ) / 0.02
- 0.0693
m/ 0.05
C/Chl-a — 50
CIN — 5.22
N/P — 8.86
CoD/C - 12
4.2.2
P N C
/ 0.062 0.031 0.031
/ 0.031 0.024 0.0062
/ 0.01
— 0.0693
m/ 0.2
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4.2.3

POP/SS  (mg/q)

1.06

3.6 (g/L) 252
(cm) 15 IN 1-N(g/g) 0.01
(m/d) 3.4 1.06
10
(cm) 1.2 (o/L) 25.6
v | B2 1-P(ng/g) 0.3
10 IP
1.06 1.10
0 5cm (ng/goW/d) ﬁgf DO 0.771%
1.1x< 7.4
N 2
5 15cm  (mg/gDW/d) 104 (m/d) 10°
1.0x
15cm (mg/gDW/d) 10 1.06
N(mg/g) 2.33 (mg-N/gDW/d) 0.047
1.06 NO;-N 0.05
1.25%
d) 10° 1.10
1.08
7.5% 1 0.0 1.2cm
0 5cm  (mg/gDW/d) 4 - -
10 2 1.2 5.0cm
P 5 15cm  (mg/gDW/d) 1'1j,< 3 5.0 10.0cm
10 4 10.0 15.0cm
1.0 5 15.0 20.0cm
Lem (mg/goiiza) |4 6  20.0 40.0cm
7 40.0 60.0cm
P(mg/q) 0.13 8  60.0 80.0cm
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4.3.4
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COoD 2001-2003 T-N 2001-2003
10 1.0
8 0.8 .
- —
> 6 >06
£ £
4 04
2 02
0 0.0
0 2 4 6 8 10 0.0 0.2 04 0.6 0.8
mg/L mg/L
CoD r=0.61 T-N r=0.58
T-P 2001-2003 DO 2001-2003
0.10 15
.0
12 -
—
> 9T
£
6 I
3
0.00 0 !
0.00 0.02 0.04 0.06 0.08 0.10 0.12 0 3 6 9 12
mg/L mg/L
T-P r=0.61 DO r=0.83
4.3.5 COD T-N T-P DO (H13 HI5 )
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5.1
5.1
H15 H20 H20 H15 H20 H20
75% 51 5.1 45 52 5.2 4.6
45 45 41 42 42 39
T-N 047 047 0.44 0.53 0.54 0.50
T-P 0.047 0.048 0.043 0.052 0.052 0.048
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